4\ f8 / External view

D view

I: i

| p——

-

[

[ —

HEBAZA / Components
E view No. &R / Part name = / Pcs #E / Material - REWIE / Color-Finish
1 $1/3\— / Cover 1 7 JLEAR /Aluminium A1100P t1.5 A1)y )LIN—Z%E / Metallic Silver Painted
"; (i I T;“ 2 v +v— / Base 1 7 JLE#R /Aluminium AT100P t1.5 A1)y JLIN—E%E / Metallic Silver Painted
j\_J 3 3—7—H—K / Corner Guard 8 TPE TS99+ L—%AE—-LYEK / Black-Gray-Navy*Red
4 BFERGRANRHRILIMS x 8) 16 % SlEsni—k
screw (Hexagon socket head M4 - 8) steel Black trivalent chromate
5 HYZF / Carrying Handle 1 PU. PA. ABS, Steel J5w4 -4 L— / Black*Gray
6 WMFERAFER (FAZYE LT MS x 8) 4 % =f@oai—+
8 screw (Panhead tapping M5 - 8) Steel Trivalent Chromate
N U > ~ ~ =3 -~ . . . .
NKAN—ED—L DEBMEFNIBTY , / Inner side of cover and base are conductivefinished.
N/
Bl 1.2
26
=
A view C view
) o
© [}
= - —
= = = Fr=
7R|f—’j ‘“\|2 o 7 o
| |
e 2 : | |
| |
EL-Fl |nl- g \ —%jagagﬂﬂﬂﬂﬂﬂﬂﬂllﬂﬂﬂﬂﬂﬂﬂﬂagaga_A-
J { N J | ——
180 280
43 110 43 43 210 43
196 296 E view
l B view
F view
| |
=]
KA—F—H—RIIr—REEFHDTT .

A

P Corner guard should fasten together with enclosure when assembling.

F view

[TAKACHI] #X&#tahFEHIE

itk (BUFEXREDOQ) / Color Type (End of product numberd)

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
S—F—H—RHr—2
METAL CASE with CORNER GUARD

o]

e T - —
ie= / Code 2&175 / Body a—+ 7] K / Comer guard |EXF /\ Carrying Handle o w—— T HE oot | BE Prodst momner RE/Scale
SB ARy JLIN— / Metallic silver 75w% / Black 7594 / Black 1:5
SG Ao JLiN— / Metallic silver 4'L— / Gray 4'L— / Gray MCG18-16-28S[]
SN Ao JLiN— / Metallic silver FAE— / Navy 4J'L— / Gray 4R H#%H x - 1/ 3
SR AR5 JL1A— / Metallic silver Lk / Red JL— / Gray fER.H/Date  2018/11/13




$H/\— / Cover

D view

E view

15

4-@5.5

4-M4x0.7/8—1) 5 T

4-M4x0.7Burring

15

A view

160

1.5

F view

15

15

180

G(2:1)

. AN
N
\ <
0 | -
~
S ) o~
[ee) ___/
N
3
C view B view
2-M4x0.7/5—1) 5 T
2-M4x0.7Burring
15 15
o
2-5.5
G
@I it o
15 47 186 47
Inside Conductivefinished
4 /Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RFr—X
METAL CASE with CORNER GUARD

o]

iR

R/ Approved

1% [X|/Checked X /Created

1% H ES

R /Product number

MCG18-16-28SL]

RFE/Scale
1:5

{EBL B /Date 2018/11/13

2 /3




o—

D view

E view

]

> / Base

A view

F view

C view

B view

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
J—F—H—FftHr—X
METAL CASE with CORNER GUARD

o]

A& 8/ Approved

iR

1% [X|/Checked

1% H

X /Created

e

R /Product number

MCG18-16-28SL]

RFE/Scale
1:5

{EBL B /Date 2018/11/13

37/ 3




